Name:

A not 1 Practice Period

Problem 1

Polynomial function Polynomial Equation

2 2

f(x)=2-x"-x-1 2:x°=x-1=0

State the number of roots this polynomial
MUST have __

state y intercept

As X ——o f(x) —__

As X =t f(x) —__

Completely factor and solve the given
polynomial equation

Mark all that apply

has GCF (greatest common factor)

is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)
is DOTC (difference of two cubes)

is a multiple of one of the above

cannot be factored

has only positive solutions

has only negative solutions

has both positive and negative
solutions

has zero as a solution

has imaginary solutions

OO0 O OO0OO0OOOOOO

has irrational solutions

Problem 2

Polynomial function Polynomial Equation

2 2

fix)=6-x “+15-x+9 6-x < +15-x+9=0

State the number of roots this polynomial
MUST have

statey intercept ___

As X ——o f(x) —__

As X =t f(x) —__

Completely factor and solve the given
polynomial equation

Mark all that apply

has GCF (greatest common factor)

is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)
is DOTC (difference of two cubes)

is a multiple of one of the above

cannot be factored

has only positive solutions

has only negative solutions

has both positive and negative
solutions

has zero as a solution

has imaginary solutions

OO0 O OO0OO0OOOOOO

has irrational solutions

FACTOR CARDS A not 1 Quadratics.tns

s
(100,62

-2.18

completely factored form of the polynomial

2-x2—x-1=0

AC = GCF=____

ADD or SUBTRACT to get bx?

Solutions

11.27 [y
(0,9) /

051

—

Y
251 (15.0) —"UEU b

completely factored form of the polynomial

6+ x 2 +15-x+9=0

AC=__  GCF=___
ADD or SUBTRACT to get bx?

Solutions

10f8



Name:

A not 1 Practice Period

Problem 3

Polynomial function
2

Polynomial Equation

2

fix)="2-x “—x+10 2-x T -x+10=0

State the number of roots this polynomial
MUST have __

state y intercept

As X ——o f(x) —__

As X =t f(x) —__

Completely factor and solve the given
polynomial equation

Mark all that apply

has GCF (greatest common factor)
is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)

is DOTC (difference of two cubes)
is a multiple of one of the above
cannot be factored

has only positive solutions

has only negative solutions

has both positive and negative
solutions

has zero as a solution

has imaginary solutions

OO0 O OO0OO0OOOOOO

has irrational solutions

Problem 4

_____________________________
Polynomial function Polynomial Equation

f00=2-x 2411414 2-x2+11-x+14=0

State the number of roots this polynomial
MUST have

state y intercept _____

As X ——o f(x) —__

As X =t f(x) —__

Completely factor and solve the given
polynomial equation

Mark all that apply

has GCF (greatest common factor)
is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)

is DOTC (difference of two cubes)
is a multiple of one of the above
cannot be factored

has only positive solutions

has only negative solutions

has both positive and negative
solutions

has zero as a solution

has imaginary solutions

OO0 O OO0OO0OOOOOO

has irrational solutions

FACTOR CARDS A not 1 Quadratics.tns

12.64 1y
™(0.10)
1 (2.0)  x
-5.472.5,0) 0.5 4.27

-11.08

completely factored form of the polynomial

2-x 2

AC=__ GCF=__
ADD or SUBTRACT to get bx?

x+10=0

Solutions

17.93 f’
(0,14)
1 x
6.84 (350)—(20) (0.5 2.91
-5.79

completely factored form of the polynomial

2-x24+11-x+14=0

AC=__  GCF=___
ADD or SUBTRACT to get bx?

Solutions

20f8



Name:

A not 1 Practice Period

Problem 5

Polynomial function Polynomial Equation

2 2

fix)="6-x “+16-x+6 “hex T H16-xt6=0

State the number of roots this polynomial
MUST have __

state y intercept

As X ——o f(x) —__

As X =t f(x) —__

Completely factor and solve the given
polynomial equation

Mark all that apply

has GCF (greatest common factor)

is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)
is DOTC (difference of two cubes)

is a multiple of one of the above

20.84 Ty

(0,6)

(o3m30)ff |30k

cannot be factored

has only positive solutions

has only negative solutions

has both positive and negative
solutions

-8.22 0.5 4.85

-10.99

has zero as a solution

has imaginary solutions

OO0 O OO0OO0OOOOOO

has irrational solutions

Problem 6

Polynomial function Polynomial Equation

2 2

fix)=3-x"+11-x+6 3 x “H11-x+6=0

State the number of roots this polynomial
MUST have

state y intercept _____

As X ——o f(x) —__

As X =t f(x) —__

Completely factor and solve the given
polynomial equation

completely factored form of the polynomial

6-x 2416+ x+6=0

AC = GCF=____

ADD or SUBTRACT to get bx?

Solutions

Mark all that apply

has GCF (greatest common factor)

is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)
is DOTC (difference of two cubes)

A

10.31]

0.6)

is a multiple of one of the above

cannot be factored

has only positive solutions

has only negative solutions

has both positive and negative
solutions

.'5.64'('-3‘:1)\/' 0.5 411

-13.41

has zero as a solution

has imaginary solutions

OO0 O OO0OO0OOOOOO

has irrational solutions

FACTOR CARDS A not 1 Quadratics.tns

completely factored form of the polynomial

3 x 24 11-x+6=0

AC=__  GCF=___
ADD or SUBTRACT to get bx?

Solutions

3of 8
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A not 1 Practice Period

Problem 7
Polynomial function Polynomial Equation
f(x)=3-x2-11-x-20 3x2-11-x-20-0

State the number of roots this polynomial
MUST have __

state y intercept

As X ——o f(x) —__

As X =t f(x) —__

Completely factor and solve the given
polynomial equation

T |
Mark all that apply

has GCF (greatest common factor)
is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)

is DOTC (difference of two cubes)
is a multiple of one of the above
cannot be factored

has only positive solutions

has only negative solutions

has both positive and negative
solutions

has zero as a solution

has imaginary solutions

OO0 O OO0OO0OOOOOO

has irrational solutions

Problem 8

Polynomial function

f0=3-x2420-x+25

Polynomial Equation

312420 x+25=0

State the number of roots this polynomial
MUST have

state y intercept _____

As X ——o f(x) —__

As X =t f(x) —__

Completely factor and solve the given
polynomial equation

T |
Mark all that apply

has GCF (greatest common factor)
is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)

is DOTC (difference of two cubes)
is a multiple of one of the above
cannot be factored

has only positive solutions

has only negative solutions

has both positive and negative
solutions

has zero as a solution

has imaginary solutions

OO0 O OO0OO0OOOOOO

has irrational solutions

FACTOR CARDS A not 1 Quadratics.tns

-40.71

Solutions

completely factored form of the polynomial

3-_'(2

AC = GCF=____

11-x-20=0

ADD or SUBTRACT to get bx?

—

30.08

=

(0,25)

X,

1.02

Solutions

completely factored form of the polynomial

3 x2420-x+25-0

AC=__  GCF=___
ADD or SUBTRACT to get bx?

4 of 8
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Problem 9
Polynomial function Polynomial Equation
f(x)=4-x2-15-x—4 4-x2-15-x-4-0

State the number of roots this polynomial
MUST have __

state y intercept

As X ——o f(x) —__

As X =t f(x) —__

Completely factor and solve the given
polynomial equation

T |
Mark all that apply

has GCF (greatest common factor)
is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)

is DOTC (difference of two cubes)
is a multiple of one of the above
cannot be factored

has only positive solutions

has only negative solutions

has both positive and negative
solutions

has zero as a solution

has imaginary solutions

OO0 O OO0OO0OOOOOO

has irrational solutions

Problem 10

Polynomial function

f(x)=-8-x2-38-x-24

Polynomial Equation

-8-x2-38-x-24=0

State the number of roots this polynomial
MUST have _

state y intercept _____

As X —— fix) —__

As X —teo fix) —_

Completely factor and solve the given
polynomial equation

T |
Mark all that apply

has GCF (greatest common factor)

is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)
is DOTC (difference of two cubes)

is a multiple of one of the above

cannot be factored

has only positive solutions

has only negative solutions

has both positive and negative
solutions

has zero as a solution

has imaginary solutions

OO0 O O0O0OO0OOOOOO

has irrational solutions

FACTOR CARDS A not 1 Quadratics.tns

2,

-5.95  (-0.5,0) 0.5
(0,-4)

5.95

-26.82

completely factored form of the polynomial

4 x2-15-x-4=0

AC = GCF=____

ADD or SUBTRACT to get bx?

Solutions

1
30.97 | v

(-4‘-[)),- | p
-5.78

X

(-0.75.0)\ 10.5  2.69

(0,24]
-40.3 \

completely factored form of the polynomial

8-_\’2

38 x-24=0
AC=__ = GCF=____

ADD or SUBTRACT to get bx?

Solutions

5of 8



Name:

A not 1 Practice Period

Problem 11

Polynomial function

00=8-x2+14-x+5

Polynomial Equation

8 x 2414 x+5=0

State the number of roots this polynomial
MUST have __

state y intercept

As X ——o f(x) —__

As X =t f(x) —__

Completely factor and solve the given
polynomial equation

Mark all that apply

has GCF (greatest common factor)
is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)

is DOTC (difference of two cubes)
is a multiple of one of the above
cannot be factored

has only positive solutions

has only negative solutions

has both positive and negative
solutions

has zero as a solution

has imaginary solutions

OO0 O OO0OO0OOOOOO

has irrational solutions

Problem 12

Polynomial function

00=8-x2+10-x-7

Polynomial Equation

8 x2410-x-7=0

State the number of roots this polynomial
MUST have

state y intercept _____

As X ——o f(x) —__

As X =t f(x) —__

Completely factor and solve the given
polynomial equation

T |
Mark all that apply

has GCF (greatest common factor)
is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)

is DOTC (difference of two cubes)
is a multiple of one of the above
cannot be factored

has only positive solutions

has only negative solutions

has both positive and negative
solutions

has zero as a solution

has imaginary solutions

OO0 O OO0OO0OOOOOO

has irrational solutions

FACTOR CARDS A not 1 Quadratics.tns

9.331y

212 (25 00 )1 0.69

-4.67

completely factored form of the polynomial

8 x2+14-x+5=0

AC = GCF=____

ADD or SUBTRACT to get bx?

Solutions

8-_'(2

AC=__  GCF=___
ADD or SUBTRACT to get bx?

+10-x=T7=0

13.43 1y
1 (0.5,0) d
-3.75( 1.75.0) 0.2 2.29
(0,7)
-16.66
completely factored form of the polynomial
Solutions

6 of 8



Name:

A not 1 Practice Period

Problem 13

Polynomial function

00=15-x 248 x+1 15x

Polynomial Equation

248-x+1=0

State the number of roots this polynomial
MUST have __

state y intercept

As X ——o f(x) —__

As X =t f(x) —__

Completely factor and solve the given
polynomial equation

T |
Mark all that apply

has GCF (greatest common factor)
is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)

is DOTC (difference of two cubes)
can be factored

is a multiple of one of the above
has only positive solutions

has only negative solutions

has both positive and negative
solutions

has zero as a solution
has imaginary solutions

has irrational solutions

OO0 O OO0OO0OOOOOO

Problem 14
Polynomial function Polynomial Equation
f(x)=15-x 2+x-2 15-x 2 +x-2=0

State the number of roots this polynomial
MUST have

state y intercept _____

As X ——o f(x) —__

As X =t f(x) —__

Completely factor and solve the given
polynomial equation

T |
Mark all that apply

has GCF (greatest common factor)
is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)

is DOTC (difference of two cubes)
is a multiple of one of the above
cannot be factored

has only positive solutions

has only negative solutions

has both positive and negative
solutions

has zero as a solution

has imaginary solutions

OO0 O OO0OO0OOOOOO

has irrational solutions

FACTOR CARDS A not 1 Quadratics.tns

2821y

0.21

0.67 0.333,0YJ

-1.34 1

X
(02,0)  0.17

completely factored form of the polynomial

Solutions

15 x 248 x+1=0

AC = GCF=____

ADD or SUBTRACT to get bx?

15 x 2 4x-2=0

AC=__  GCF=___
ADD or SUBTRACT to get bx?

7.021y
0.5 X
-1.12 (-0.4,0) 0.1 /(0.333,00.96
r(0,2)
-3.32
completely factored form of the polynomial
Solutions

70of 8



Name:

A not 1 Practice Period

Problem 15
Polynomial function Polynomial Equation
f(x)=20-x 2+17-x+3 20-x 2417 x+3-0

State the number of roots this polynomial
MUST have __

state y intercept

As X ——o f(x) —__

As X =t f(x) —__

Completely factor and solve the given
polynomial equation

OO0 O OO0OO0OOOOOO

T |
Mark all that apply

has GCF (greatest common factor)
is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)

is DOTC (difference of two cubes)
is a multiple of one of the above
cannot be factored

has only positive solutions

has only negative solutions

has both positive and negative
solutions

has zero as a solution
has imaginary solutions

has irrational solutions

Problem 16

Polynomial function
2

Polynomial Equation

f(x)=-20-x =-31-x-12

2[}-_'c2 31-x-12=0

State the number of roots this polynomial
MUST have ___

state y intercept ____
AS X —=e flx) —__
As X —+e f(x) —__

Completely factor and solve the given
polynomial equation

T |
Mark all that apply

OO0 O OO0OO0OOOOOO

has GCF (greatest common factor)
is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)

is DOTC (difference of two cubes)
is a multiple of one of the above
cannot be factored

has only positive solutions

has only negative solutions

has both positive and negative
solutions

has zero as a solution
has imaginary solutions

has irrational solutions

FACTOR CARDS A not 1 Quadratics.tns

7911y

0.5

-1.53

(0.25. -1

-2.43

(-0.6,0)

L
0.54

completely factored form of the polynomial

Solutions

20-x2

17+ x+3=0
AC=__ = GCF=__

ADD or SUBTRACT to get bx?

(-0.8,0) (-0.75,0) 1

7321y

-1.53

-18.86

0.22

completely factored form of the polynomial

Solutions

20-x 2

31-x-12=0
AC=__ = GCF=____

ADD or SUBTRACT to get bx?
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